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[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
| Then mark the correct choice on vour answer sheet.

10-

That -=====---- car has none of the features, like power windows and steering, that make
modern cars so great.
1) antiquated 2) superficial 3) aesthetic 4) hazardous

With several agencies regulating the reports, it was difficult for the accused to argue
against ity ---——--- :

1) infamy 2) relevance 3) veracity 4) anticipation

Sinee Jack did not want a speeding ticket, he tried to ------ -—- the police officer by giving
her a compliment.

1) convict 2} appease 3) reinforce 4) escape

Trudy studied harder, but there was only =--———--- improvement in her grades, so she
agreed to get a tutor.

1) marginal 2) commonplace  3) monotonous 4% unbearable

Living apes—chimpanzees, gorillas, orangutans, gibbons and siamangs—and humans
share a constellation of -————--- that set them apart from other primates.

1) demands 2) certainties 3) disciplines 4) traits

Have you ever noticed how a coin at the botiom of a swimming pool seems to wobble?
This occurs because the water in the pool bends the path of light --——--- from the coin.
1) generated 2) recognized 3) reflected 4y differentiated

Publicly available Web services (e.g. Google, InfoSeek, Northernlight and AltaVista)
------- various technigues to speed up and refine their searches.

1) specify 2) capture 3) determine 4) employ

Owing to the protests of the Dominicans and other regulars, the book was prohibited in
1760, but the sccond part was issued ——----- in 1768.

1) meticulously 2) superstitiously  3) profoundly 4) recklessly

While admissions offices do admit many students with similar profiles, a college is still a
------ and diverse community.

1) mundane 2} eontroversial 3) anonymaous 4) heterogeneous

Despite the security, the thief's ability to break into the museum without being caught
remaing an ——-—------ to the police.

1) infection 2) enigma 3) illusion 4) authorization

PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| each space. Then mark the correct choice on vour answer sheet.

Thunder is caused by lightning, which is essentially a stream of electrons flowing
between or within clouds or between a cloud and the ground. The air surrounding the

electron stream becomes (11) ------—-- hot—up to 50,000 degrees Fahrenheit— that it
forms a resonating tube of partial vacuum (12) ==-eameuus the lightning’s path. The nearby
air rapidly expands and contracts, (13) ---------- the column vibrate like a tubular

drumhead (14) ----cmuemv a tremendous crack. As the vibrations gradually die out, the



sound echoes and reverberates, generating the rumbling (15) ----=----- thunder. We can
hear the booms from great distances, 10 or more miles from the lightning that caused
them.

11- 1) very 2y 50 3) oo 4) enough

12- 1) surrounding 2} surrounds 3) that surround  4) and surround

13- 1) that makes 2) and making 3) making 4) it makes

14- 1) produces 2)is produced by 3) and produce 4) and producing

15- 1)itis called 2) is called 3) we call 4% which called

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Convection is the transfer of heat energy by circulation and diffusion of the heated
media. It is the most common method of heating tluids or gases and also the most
frequent application of electric tubular elements and assemblies. Fluid or gas in direct
contact with a heat source is heated by conduction causing it to expand. The expanded
material is less dense or lighter than its surroundings and tends to rise. As il rises, gravity
replaces it with colder. denser material which is then heated repeating the cycle. This
circulation pattern distributes the heat energy throughout the media. Forced convection
uses the same principle except that pumps or fans move the liquid or gas instead of
gravity. Typical convection heating applications include water and oil immersion
heating, air heating, gas heating and comfort air heating,

16- All of the following statements are true except:

1) Convective heat transfer involves diffusion of the heated media.

2) Direct contact with the heat source is essential in convection.

3) Fluids are commonly heated through conduction.

4) In convection, warmer material is replaced with the denser material.
17- The word "assemblies"in the passage is closest in meaning to:

1) Frames 2} Junctures 3) Structures 4)Tools
18- Forced convection:

1) does not use pumps or fans

2) can be used in comfort air heating

3) moves liquid or gas by gravity

4) uses the same principle as conduction
19-  Examples of heated media are:

1) electric tubular elements 2) fluids or gases

3) heat sources 4) pumps or fans



20-

21-

22-

24-

25-

PASSAGE 2:

In one plant, odorous emissions were observed for several years near a drum dryer line
used for volatilizing an organic solvent from a reaction mixture. Although two dryer-
product lines existed, the odors were observed only near one line.

The analysis and field testing indicated that the chemical compounds causing the odors
were produced in upstream unit operations due to the hydrolysis of a chemical additive
used in the process. The hydrolysis products were stripped out of the solution by the
process solvent and appeared as odorous fumes at the dryer. Conditions for hydrolysis
were favorable at upstream locations because of temperature and acidity conditions and
the residence time available in the process. Also, the water for the hydrolysis was
provided by another water-based chemical additive used in the dryer line that had the
odor problem.

Because the cause of the odorous emission was the process chemistry, the plant had
to evaluate ways to minimize hydrolysis and the resulting formation of odorous
products. Ventilation modifications to mitigate the odor levels would not be a long-term
solution to the odor problem.

The passage talks about how the odors can be:

1) emitted 2) generated 3) observed 4)reduced
The main source of odor was due to:
1) acidic condition 2) long residence time

3) degradation of the organic solvent.  4) hydrolysis of chemical compound
Odor problem could be overcome by:

) adding a new line 2) preventing hydrolysis

3) stripping out the chemical compound 4) ventilation

Mitigate the odor levels means:

1) making the odor concentration less severe

2) making odor disappear

3) adsorb odor compounds

4) solving odor problems

Water for hydrolysis comes from:

1) a chemical 2) odorous compound

3) the other dryer line 4) chemical reaction within the process
The odor problem was:

1) solved recently 2) there for many years

3) not so much important 4) observed in both drver lines
PASSAGE 3:

The twentieth century saw rapid population growth paralleled by an unprecedented rate
of technological innovation. The population growth made necessary, and new
technologies made possible, an explosive growth in the chemical industry, By the mid-
twentieth century, petroleum became the source of the great majority ol organic
compounds. Today, the global chemical and pharmaceutical industries employ more
than 10 million people and contribute about 9% of world trade. In the latter part of the
twentieth century, several pressing problems demanded urgent attention. Foremost was



26-

27-

28-

29-

the growing rate of energy consumption in the face of increasingly rapid depletion of
nonrenewable resources. Then there was the realization that global climate change,
driven in significant part by carbon dioxide emissions from the combustion of fossil
fuels. posed a major threat. Another problem was the omnipresence of human-generated
toxic materials in the environment.

During the twentieth century:

1) population growth was necessary

2) many chemical factories exploded

3) technological progress became possible

4) the rate of technological innovation was high

During 1950-2000:

1) many renewable resources were diminished

2) rate of energy consumption became very high

3) petroleum became the source of many organic compounds

4) global chemical/pharmaceutical industry had 9% share of trade
Omnipresence means:

1) attribute of God 2) very dangerous

3) found everywhere 4) existing in the environment
Global elimate change is:

1) caused by combustion of fossil fuels 2) not important to the environment
3) caused by driving cars 4) known by people
Generation of carbon dioxide:

1) is significant

2} 15 used to drive cars

3) results in climate change

4} is the reason for combustion of fossil fuels
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